# TOPICS : GAUSS 'S THEOREM. INTEGRAL EXPRESSION OF THE HYPERGEOMETRIC FUNCTION ACCORDING TO THE DALANBER PRINCIPLE 

B. B. Makhmudov<br>K.G.P.I. Teacher

F. F. Vokhobov<br>K.G.P.I. Teacher


#### Abstract

The article considers boundary value problems for hypergeometric functions and their differential equations, problems in the integral form of hypergeometric functions. The hypergeometric function of Gauss, the Dalanber principle was used .


Keywords; hypergeometric function, differential equations, integral form, d'Alembert principle

## HYPERGEOMETRIC EQUATION

## Basic Definitions

Type equation
$x(1-x) y^{\prime \prime}+[c-(a+b+1) x] y^{\prime}-a b y=0$
is called the hypergeometric equation or the Gauss equation, where $a, b, c$ are three arbitrary parameters that take real or complex values. Two of them: $a$ and $b$ symmetrically participate in the equation.
$\sum_{n=0}^{\infty} M\left|\frac{x}{x_{0}}\right|^{2}=M+M\left|\frac{x}{x_{0}}\right|+M\left|\frac{x}{x_{0}}\right|^{2}+\ldots+M\left|\frac{x}{x_{0}}\right|^{n}+\ldots$
solution of the equation
$y=\sum_{n=0}^{\infty} A_{n} x^{n}$
looking for in the form of a power series. From this
$y^{\prime}=\sum_{n=1}^{\infty} n A_{n} x^{n-1}$
or
$y^{\prime}=\sum_{n=0}^{\infty}(n+1) A_{n+1} x^{n}$,
$y^{\prime \prime}=\sum_{n=1}^{\infty} n(n+1) A_{n+1} x^{n-1}=\sum_{n=0}^{\infty}(n+1)(n+2) A_{n+2} x^{n}$.
the values of these derivatives and $y(1)$ into the equation. In this case
$\sum_{n=0}^{\infty} x(1-x)(n+1)(n+2) A_{n+2} x^{n}+$
$+\sum_{n=0}^{\infty}[c-(a+b+1) x](n+1) A_{n+1} x^{n}-\sum_{n=0}^{\infty} a b A_{n} x^{n}=0$.
unknown $A_{1}$ constants $x, \ldots, \ldots$ we use the method of uncertain coefficients, on the $A_{n}$ basis of which the coefficients in front of the same levels should be set equal to zero. $x^{n}$ equating the common coefficients before that to zero
$-(n-1) n A_{n}+n(n+1) A_{n+1}-n(a+b+1) A_{n}+c(n+1) A_{n+1}-a b A_{n}=0$
make up an equation. From this
$A_{n+1}=\frac{(n+a)(n+b)}{(n+1)(c+n)} A_{n}$
we get a recursive formula.
Here we $A_{0}=1$ also $c \neq 0,-1,-2, \ldots,-n, \ldots$ think that Let's determine the first particular $A_{n}$ solution of the $F(a, b, c, x)$ hypergeometric equation (1) and substitute $y_{1}$ the found values of the coefficients in line (2). In this case
$y_{1}=F(a, b, c, x)=1+\sum_{n=1}^{\infty} \frac{(a)_{n}(b)_{n}}{(c)_{n}(1)_{n}} x^{n}$.
Here
$(a)_{n}=\frac{\Gamma(a+n)}{\Gamma(a)}=a(a+1) \ldots(a+n-1)$,
$(a)_{0}=1 \quad n=1,2,3, \ldots$,
privately, $(1)_{n}=n$ !
(3) is a hypergeometric series, and the function that is the sum of this series is called $F(a, b, c, x)$ a hypergeometric function .

According to d'Alembert's principle,
$\lim _{n \rightarrow \infty}\left|\frac{u_{n+1}}{u_{n}}\right|=\lim _{n \rightarrow \infty}\left|\frac{(a+n)(b+n)}{(n+1)(c+n)} x\right|=|x|$.
Therefore, series (3) $|x|<1$ absolutely converges $|x|>1$ and diverges. $x=1$ for , if $c-a-b>0$, (3) the series is absolutely convergent, if $c-a-b \leq 0$, then it is $c-a-b>0$ divergent $x=-1,-1<c-a-b \leq 0$ and if it $c-a-b \leq-1$ exists, then it will be distant.

If (3) in the formula $b=c$ if
$(a)_{n}=(-1)^{n}(-a)(-a-1) \ldots(-a-n+1)=(-1)^{n}\binom{-a}{n} n!$
based
$F(a, b, b ; x)=1+\sum_{n=1}^{\infty}(-1)^{n}\binom{-a}{n} x^{n}=(1-x)^{-a}$
a binomial series is formed.

If $a=1$, then $b=c$ formula (3) is
$F(1, b, b ; x)=1+\sum_{n=1}^{\infty} x^{n}=\frac{1}{1-x}$
will look like, $a=1 \mathrm{e} b=c$. the hypergeometric series becomes a geometric progression, which is why it is called the hypergeometric series.
( 3 ) into equation (1) to find the second particular solution of equation (3)
$y=x^{\rho} \eta$
we will replace. Then equation (1) is written in the following form:
$x(1-x) \eta^{\prime \prime}+[(c+2 \rho)-(a+b+1+2 \rho) x] \eta^{\prime}-$
$-\left[a b+\rho(a+b+\rho)-\frac{\rho(\rho+c-1)}{x}\right] \eta=0$
was an equation like equation $\rho=0(1)$, or $\rho=1-c$ should be. $\rho=1-c$ Existence
$x(1-x) \eta^{\prime \prime}+\{(2-c)-[(a-c+1)+(b-c+1)+1] x\} \eta^{\prime-}$
$-(a-c+1)(b-c+1) \eta=0$
we get the $\rho=1-c$ replacement equation ( $c 1 a$ ) $b$ when $y=x^{\rho} \eta$
$a-c+1 . \quad b-c+1 . \quad 2-c$
needs to be replaced. Therefore, this equation ( $y_{1} 1$ ) is not linearly related to
$y_{2}=x^{1-c} F(a-c+1, b-c+1,2-c ; x)$
will have a solution. In the same time, $y_{2}$
$2-c \neq 0,-1,-2, \ldots,-n, \ldots$
makes sense only when Thus, the general solution of equation (1) can be written in the following form:
$y=C_{1} F(a, b, c ; x)+C_{2} x^{1-c} F(a-c+1, b-c+1,2-c ; x)$,
where $C_{1}$ and $C_{2}$ are arbitrary constants.
If the hypergeometric function is symmetric and one $a$ of $b$ the parameters is a negative integer $n$ equal to ${ }^{-}$, then the hypergeometric series (3) is interrupted and $n$ becomes a -degree polynomial.
If $a=-n_{1}, b=-n_{2}$, where $n_{1}>0, n_{2}>0$ are integers, then the hypergeometric series becomes a polynomial whose degree $n_{1}$ is $n_{2}$ equal to the smallest of the numbers. (3) as a result of differentiating the series as follows
$F(a, b, a ; x)=\frac{a b}{c} F(a+1, b+1, \mathrm{c}+1 ; x)$
create a formula.
(3) by $x^{a}, x^{b}$ or $x^{c-1}$ then differentiate it, then the following formulas will be obtained: $\frac{d}{d x}\left[x^{a} F(a, b, c ; x)\right]=a x^{a-1} F(a+1, b, c ; x)$,
$\frac{d}{d x}\left[x^{b} F(a, b, c ; x)\right]=b x^{b-1} F(a, b+1, c ; x)$,
$\frac{d}{d x}\left[x^{c-1} F(a, b, c ; x)\right]=(c-1) x^{a-1} F(a, b, c-1 ; x)$.

## Integral expression of the hypergeometric function

( 3 ) line
$(a)_{n}=\frac{\Gamma(a+n)}{\Gamma(a)}$
given equality, this

$$
\begin{aligned}
& F(a, b, c ; x)=1+\sum_{n=1}^{\infty} \frac{\Gamma(c) \Gamma(a+n) \Gamma(b+n)}{\Gamma(a) \Gamma(b) \Gamma(c+n) n!} x^{n}= \\
& =\frac{\Gamma(c)}{\Gamma(a) \Gamma(b)}\left[\frac{\Gamma(a) \Gamma(b)}{\Gamma(c)}+\sum_{n+1}^{\infty} \frac{\Gamma(a+n) \Gamma(b+n)}{\Gamma(c+n) n!} x^{n}\right]= \\
& =\frac{\Gamma(c)}{\Gamma(a) \Gamma(b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+n) \Gamma(b+n)}{\Gamma(c+n) n!} x^{n}
\end{aligned}
$$

write in the form.
Based on formula (3).
$B(b+n, c-b)=\frac{\Gamma(b+n) \Gamma(c-b)}{\Gamma(c+n)}$
Since, the previous equality
$F(a, b, c ; x)=\frac{\Gamma(c)}{\Gamma(a) \Gamma(b) \Gamma(c-b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+n)}{n!} x^{n} B(b+n, c-b)$
is written in the form or according to (2.1.3).
$F(a, b, c ; x)=\frac{\Gamma(c)}{\Gamma(a) \Gamma(b) \Gamma(c-b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+n)}{n!} x^{n} \int_{0}^{1} t^{n+b-1}(1-t)^{c-b-1} d t$.
how does the integral here $n$ converge for all values
$b>0$ or $c-b>0(c>b>0$
conditions must be met.
This is the previous equation

$$
\begin{aligned}
& F(a, b, c ; x)=\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \sum_{n=0}^{\infty} \frac{\Gamma(a+n)}{n!\Gamma(a)} \int_{0}^{1} t^{n+b-1}(1-t)^{c-b-1} x^{n} d t= \\
& =\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \int_{0}^{1} t^{b-1}(1-t)^{c-b-1}\left[\sum_{n=0}^{\infty} \frac{(a)_{n}}{n!}(x t)^{n}\right] d t
\end{aligned}
$$

write in the form. Since the sum under the integral $(1-x t)^{-a}$ is an expansion into an infinite series of the function
$F(a, b, c ; x)=\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \int_{0}^{1} t^{b-1}(1-t)^{c-b-1}(1-x t)^{-a} d t$
formula. This is an integral expression of the hypergeometric function.
( 5 ) conditions are the same
$a-b-c>0$
conditionally replaceable. If $a<0$ there is, $-a>0$ then it will be, and by adding the inequality of this inequality (5) with the second one, $a-b-c>0$ we obtain the inequality; if $a>0$ so, then from this inequality we have (5), which is stronger than the second $c-b>a$ inequality.

Let us calculate the value of the hypergeometric function. Since the $x=1$ integral in formula $b>0$ (6) is a smooth approximation for $x \rightarrow 1, c>0$ and we pass to $|x|<1$ the limit:

$$
\begin{aligned}
& \lim _{x \rightarrow l} F(a, b, c ; x)=\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \lim _{x \rightarrow 1}^{1} \int_{0}^{1}\left[t^{b-1}(1-t)^{c-b-1}(1-x t)^{-a}\right] d t= \\
& =\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \int_{0}^{1} \lim _{x \rightarrow 1}\left[t^{b-1}(1-t)^{c-b-1}(1-x t)^{-a}\right] d t= \\
& =\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \int_{0}^{1} t^{b-1}(1-t)^{c-b-a-1} d t=\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} B(b, c-b-a)= \\
& =\frac{\Gamma(c)}{\Gamma(b) \Gamma(c-b)} \frac{\Gamma(b) \Gamma(c-b-a)}{\Gamma(c-a)}=\frac{\Gamma(c) \Gamma(c-b-a)}{\Gamma(c-a) \Gamma(c-b)} .
\end{aligned}
$$

So,
$\lim _{x \rightarrow 1} F(a, b, c ; x)=F(a, b, c ; 1)=\frac{\Gamma(c) \Gamma(c-b-a)}{\Gamma(c-a) \Gamma(c-b)}$.
If (6) in the integral in the formula
$t=\frac{1-s}{1-x s}$ or $s=\frac{1-t}{1-t x}$
If we make a substitution, then the integral will be written in the following form:
$\int_{0}^{1} t^{b-1}(1-t)^{c-b-1}(1-x t)^{-a} d t=$
$=(1-x)^{c-a-b} \int_{0}^{1} s^{c-b-1}(1-s)^{b-1}(1-x s)^{-(c-a)} d s=$
$=\frac{\Gamma(b) \Gamma(c-b)}{\Gamma(c)}(1-x)^{(c-a-b)} F(c-a, c-b, c ; x)$.
So,
$F(a, b, c ; x)=(1-x)^{(c-a-b)} F(c-a, c-b, c ; x)$.
This equality is called the auto-conversion formula.
(6) by replacing the variable $t=1-s$ by the formula in the integral
$\int_{0}^{1} t^{a-1}(1-t)^{c-a-1}(1-x t)^{-b} d t=$
$=(1-x)^{-b} \int_{0}^{1} s^{c-a-1}(1-s)^{a-1}\left(1-\frac{x}{x-1} s\right)^{-b} d s$
make up an equation. Hence, if we take into account (6),
$F(a, b, c ; x)=(1-x)^{-b} F\left(c-a, b, c ; \frac{x}{x-1}\right)$
formula is formed.

## LITERATURE

1. Samoilekko A. M., Krishea S. A., Perestyuk N. A. Differential balancing: examples and problems. Moscow, Higher School 1989
2. E. Kamke, Handbook of Ordinary Differential Equations. Moscow, Yu. Nauka, 1976.
3. Bateman G., Erdey A., Higher transcendental functions. Volume 1, Moscow, Nauka, 1973.
4. Urinov A.K. Using special functions ukuvkullanma . Fargona 2005.
5. Vladimirov V.S. Equations of mathematical physics. Moscow, Nauka, 1981.
6. Mamazhonov , M., and Hosiyathon Botirovna Mamadaliev. "Formulation and study of some boundary value problems for a third-order parabolic -hyperbolic type equation of the form $\partial \partial \mathrm{x}$ ( Lu )=0 in a pentagonal region." Vestnik KRAUNTS. Physical and mathematical sciences 1(12(2016):32-40.
7. Mamazhonov, M., \& Shermatova, K. M. (2017). ON A BOUNDARY-VALUE PROBLEM FOR A THIRD-ORDER PARABOLIC-HYPERBOLIC EQUATION IN A CONCAVE HEXAGONAL DOMAIN. Bulletin KRASEC. Physical and Mathematical Sciences, 16(1), 11-16. eight. Mamajonov , M., \& Shermatova, H. M. (2017). On a boundary value problem for a thirdorder equation of parabolic -hyperbolic type in a concave hexagonal region. Vestnik KRAUNTS. Physical and Mathematical Sciences , (1 (17), 14-21.
8. Mamajonov, Mirza, and Hylolahon Mirzaevna Shermatova . "On a boundary value problem for a third-order parabolic -hyperbolic type equation in a concave hexagonal region." Vestnik KRAUNTS. Physical and mathematical sciences 1(17(2017):14-21.
9. Mamazhonov, M., and Kh B. Mamadalieva. "STATEMENT AND STUDY OF SOME BOUNDARY VALUE PROBLEMS FOR THIRD ORDER PARABOLIC-HYPERBOLIC EQUATION OF TYPE $\partial(\mathrm{Lu}) / \partial \mathrm{x}=0 \mathrm{IN}$ A PENTAGONAL DOMAIN." Bulletin KRASEC. Physical and Mathematical Sciences 12.1 (2016): 27-34.
10. Mamajonov, Mirza , and Sanzharbek Mirzaevich Mamazhonov. "Statement and method of investigation of some boundary value problems for one class of fourth-order equations of parabolic -hyperbolic type." Vestnik KRAUNTS. Physical and Mathematical Sciences 1 (8) (2014): 14-19.
11. Sarymsakov , Tashmukhamed Alievich , SN Nasirov , and Dzhavvat Khadzhiev "Description of the ideals of a class of rings." Doklady Academy Nauk. Vol. 225. No. 5. Russian Academy of Sciences, 1975.
12. Nosirovich , Nosirov Sobir, and Aroev Dilshod Davronovich . "On Non-Associative Algebra And Its Properties."
13. Sarymsakov, TA ., SNNasirov , and D. Khadzhiev . "Soviet Math. Dokl . 16." English transl (1975).
14. Nosirovich , Nosirov Sobirjon , Aroyev Delighted Davronovich, and Sobirov Avazbek Abdurashid son _ "SOME PROPERTIES OF THE DISTANCE BETWEEN TWO POINTS." Journal of Ethics and Diversity in International Communication 1.1 (2021): 54-56.
15. Nosirov, C. Ph-M. Sci SN, D. D. Aroev, and A. A. Sobirov. "SOME PROPERTIES OF THE DISTANCE BETWEEN TWO POINTS." E-Conference Globe. 2021.
16. Formanov, Sh K., and Sh Jurayev. "On Transient Phenomena in Branching Random Processes with Discrete Time." Lobachevskii Journal of Mathematics 42.12 (2021): 2777-2784. 18. Khusanbaev, Ya. M ., and X . K. _ Zhumakulov . "On the convergence of almost critical branching processes with immigration to a deterministic process." O'ZBEKISTON MATEMATIKA JURNALI (2017): 142.
